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—MNERBEM=IKFETHI% / (AR 15K SLIREI— M ERAAIME)

/ATRLT
TC:=(MK#57=*0.01) / (ATR*Multiplier);
TurtleUnits:=MAX(Round(ABS(TC)),1); //X/\EGENEE

Multiplier FERFPRYSZUREL
Round PUEH N\EVEE
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/1T &M: REgEEEA20 L5
If High>H20 and BARP0S>20 and holding=0 then

begin

MyEnterprice:=IF(Open>H20+mindiff, Open, H20+mindiff); //FFEHEAME
Buy(1, TurtleUnits,Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice; //IC3k_E—XFFCT, INCHIKTA
KCATR:=ATR; [/FZCR, IBRE—IXFACIHIARE
JCSwitch:=1; [IFECRE, MEFXIE

end
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//REZFEEHA20TR S, =S
If Low<L20 and BARPOS>20 and holding=0 then

begin

MyEnterprice:=IF(Open<L20-mindiff, Open, L20-mindiff); //FFEBtTLME
Buyshort(1, TurtleUnits, Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice;  //ICITF M

KCATR:=ATR; [/FAZCR, IBRFCHRIATRE
JKCSwitch:=1; [IFZ6R, MECHXIE

end
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//E—IRING:
If High> =PreEnterprice+0.5*KCATR and JCSwitch=1 then

begin

MyEnterprice:=IF(Open>PreEnterprice+0.5*KCATR, Open, PreEnterprice+0.5*KCATR);
Buy(1, TurtleUnits, Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice; //103<_E—IXF G

JCSwitch:=2; //II—RBRE, RFIIETRE

end
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//EIRING:
If High>= PreEnterprice+0.5*KCATR and JCSwitch=2 and-enterbars>1 then

begin

MyEnterprice:=IF(Open>PreEnterprice+0.5*KCATR, Open, PreEnterprice+0.5*KCATR);
Buy(1, TurtleUnits, Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice; //1C3<_t—IRFGIN

JCSwitch:=3; //FBIXMEIR, FFE=RINE

end
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If High>= PreEnterprice+0.5*KCATR and JCSwitch=3 then

begin

MyEnterprice:=IF(Open>PreEnterprice+0.5*KCATR, Open, PreEnterprice+0.5*KCATR);
Buy(1, TurtleUnits, Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice; //10F=_E—IRF G

JCSwitch:=0; [IFB=IRINERE, XAMEFTHX

end
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//IEIREEA . FZCNBINEZEASARLLT, £ 1ER

If Low<= PreEnterprice-2“KCATR and enterbars>1 and holding>0 then

begin

MyExitprice:=IF(Open<PreEnterprice-2*KCATR, Open, PreEnterprice-2*KCATR);
sell(1, holding,Limitr, MyExitprice);

JCSwitch:=0; //1EiRfR, RAMIEHX

end
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//FEERE: ATIRMOAREN, £FE%

H10 :=REF (HHV (HIGH, 100, 1) //= 1735
L10 :=REF(LLV(LOW, 10),1): /=738

{PFEET B TEBIOHS N, P85, T El#EnHx

It Low<L10) and enterbars>1l and holding>0 then
begin
MvExitprice :=IF (0pen<L10-MINDIFF, Open, L10-MINDIFF) ;
zell (1, holdins, Limitr, M¥Exitprice)
JCSwitch:=0; PR ER. RAMEH®
LongSwitch:=1; ST HAS BRI H =

end
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/IS5 SRIKERRS5_E4-----High>1</EHA L4, and G =0
If High>H55 and BARPOS>55 and holding=0 and LongSwitch=1 then

begin
MyEnterprice:=IF(Open>H55+mindiff, Open, H55+mindiff);
Buy(, TurtleUnits,Limitr, MyEnterprice);

PreEnterprice:=MyEnterprice; / /iEiJ:—}/'G:F'@ﬁI\, Jiigexalliiyas

KCATR:=ATR; [/FFEBR, IBRE—XFCHRIATRE
JCSwitch:=1; /I FEBRE, IMEHEFE

end
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(1) BEED: WiETkSEFreEEEL
— NEBREA=IKPEFY0.5% / (ATR1GKSLIEEI—NE

AAYME)

1005 52932£4:(100J5+0.005) / (ATR*Multiplier);
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